
6.1 –D- Spheres

• Formulas:
AL

(Lateral Area)
AT = AL + Ab

(Only hemispheres 
have a base)

Spheres                4��2

Hemispheres 2��2 3��� 
1

Ex 1: A Tennis ball has diameter 6 cm.  What is 
its surface area?

Atotal = 4���
= 4π (32)
= 36 π
= 113.10 cm2

6 cm
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= A T Sphere

Ex 2: A soccer ball with diameter 30 cm is placed 
tightly inside a cube box.  Find the difference 
between their surface areas.

A =  Acube - Asphere
=  6w2 - 4���
= 6(30)2 - 4��15��
= 6(900) - 900π
= 5400 – 2827.43
= 2572.57 cm2

30 cm
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= A T Sphere

ASun = 4���
= 4π (6955002)
= 1.9349x1012 π
= 6.0786x1012 km2

AEarth = 4���
= 4π (63782)
= 1.6272x108 π
= 5.1119x108 km2

So the sun has a SA 11891 x bigger than the earth’s

Ex 3: How many times greater is the SA of the Sun than the 
Earth?

dE=12 756 km

dS=1 391 000 km

Ratio = ASun

AEarth

= 6.08x1012 km2

5.11x108 km2

r = 695500

r = 6378

= 11891

2

4

= A T Sphere

Practice: page 185 # 37 to 42
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